ASNENMENT FOR CLASS 3
ENCLISH

ASSIGNMENT- 1

Underline the adjectives in the following sentences

1. Manu is a smart boy.

2. The poor shoemaker worked hard to support his family.

3. There are twenty apples in the basket.

4. Sania is my best friend.

5. We have bought enough milk.

6. They don’t have much money.

7. She has many friends in Mumbai.

8. Only a few students took the exam.

9. He has a beautiful daughter,
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10. He was wearing a blue shirt.

11. You didn’t each much food.

12. She has a golden necklace.

13. Have you got any oil?

14. There are some roses in the garden.

15. Loud music gives me a headache

ASSIGNMENT-2
Circle the adjectives in the story.

These are the steps to make a delicious sandwich.
First, you need two slices of fresh bread.
Then, using a dull knife, spread mustard on the bread.

Select your favorite cold meat. Mine is black forest ham.
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Pick two slices of the thin meat and place it on top of the bread.
You can add a slice of swiss cheese to the meat.

Get some lettuce and pull a few leaves.

Add them to the pile.

Put the second slice on top to close your sandwich and cut it with
a sharp knife.

Place your sandwich on a clean plate and sit down at the table.

Your delicious sandwich is ready to eat. Enjoy

ASSIGNMENT-3

Decide whether you have to use a little or a few:

1. Can you please buy apples?
2. We need water.

3.1have ______ money left.

4. | take sugar with my coffee.
5.Wehad______pints of beer there.
6. You have ______time left.

7. There are chairs in the room.
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8. He only spent dollars there.

Decide whether you have to use some or any:

1. Is there milk left?

2. Thereis ______juicein the bottle.
3.Doyouhave ______ coffee?

4. | don't have money left.
5.Shehas ___money.

6. Do you know of these singers?

7. | don't know of them.
8. | know of them.
ASSIGNMENT-4

Decide whether you have to use much or many:

1. We saw animals at the zoo.

2. How ____oranges did you put in the box?
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3. Thereisn't sugar in my coffee.

4. | don't have friends.

5. The old man hasn't got hair on his head.
6. I've packed bottles of water.
7. | didn't get sleep last night.

8. How fruit do you eat in an average day?

Decide whether you have to use some or many:

1. The child put sand into the bucket.

2. | can lend you money if you need it.

3. There aren't pears left. Only two.

4, We had cake with the tea.
5.Don'teatso____ sweets or you'll get fat.
6. | don'thave _____ friends.

7. Hebrought ____ food with him.
ASSIGNMENT-5
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Fill the correct adjectives in the blanks in the given
sentences

1. There are weeks in a month.

2. Mahatma Gandhi was a leader.

3. The ant is a very animal.

4, mangoes are not sweet.

5. My nails are and

6. My books are

7. The Lions at the Gir forest are

8. house is net to the park.

9. Please give me money to buy a
of chocolate.

10. The weather is and

Scanned with CamScanner



ASSIGNMENT -6
Underline the adjectives

1. Vijay has ten balloons.

2. | want new shoes for my birthday.

3. | like to eat fresh fruits.

4. There is a tiny bird in the nest.

5. The dog jumped through the round hoop.

6. My colouring book has pretty pictures.

7. My father wears a red helmet and dark goggles.

8. My grandfather has big eyes.

9. Molly is wearing a black shirt.

10.The Princess found a little room at the top of a tall tower.

ASSIGNMENT-7
UNDERLINE THE ADJECTIVES AND CIRCLE THE NOUNS

An old lion was sleeping.
His loud snores could be heard by all.
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He was dreaming of a deer.

The deer was standing under a tall tree.

Twelve monkeys were eating the sweet fruit of the tree.
They dropped the sour fruit and the hungry deer ate them.
Suddenly, the Lion heard a loud sound.

A fat peacock had seen him and called out loudly.

The fierce Lion roared.

The roar woke up the lion.

The hungry lion got up to hunt.

The moon was a silver ball in the sky.

ASSIGNMENT-8
Match the adjectives with the correct nouns

ADJECTIVES NOUNS

1. Red 1. Question

2. Playful 2. Soldier

3. Brave 3. Grass

4, Ripe 4 Rose

5. Bright 5. Class

6. Blue 6. Dog

7. Hot 7. Mangoes

8. Green 8. Sunshine
|9. Difficult 9. Soldier

10. Noisy 10. Sky
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ASSIGNMENT-9

Underline the adjectives and circle the nouns

1. The horse iis a strong animal.

2. Alladin had a magic lamp.

3. The dictionary is useful.

4, Raman is a careless boy.

5. The clown performed funny tricks.

6. Chinese food is oily.

7. The holy cities of Varanasi and Amritsar are in North India.
8. The monkeys have long tail.

9. Dhoni is a wonderful cricketer.

10. 1 like to read stories with happy endings.

ASSIGNMENT-10

Fill in the blanks with adjectives

a. Theclasshas _____boys, but_____girls.

b. The brothers wandered in search of food.

c. The teacher asked questions but we couldn't
answer___.

d. ____boys raised their hands.

e. My mother boughta _____of milkanda __apples.
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1.

2. Tellwhich of the followin

7.

MATHS

' Compare the numbers. Put {he symbol »

% _(SJ 8,409 D 8,904

=or<inthegiven boxes.

(b) 7.632 D 8,623

() 16,287

,_[d [ e @ o1 [] o
23,71

) 6 [ o0m O 81709 ) 81708

() 517,324 D 6,17,423 (h) 6,28,701 D 6,29,837

9sets of numbers di ding order
'ndicntEh?WﬁﬂnngrD. numbersare arranged In descending orascending or

() 2600 26001 30516 86000 89200 96,000
(b) 87016 85920 78132 65017 29,185 9,872
0 317 387 1295 14170 23625 26,001
(d 28017 26910 22618 19011 13928 10,006

Tick (V) the greatest number in each of the following sets of numbers,

(a) 26,103; 24,988; 37,012; 39,500 (b) 70,124; 55,167; B6,103; 41,998
Tick (V) the least number in cach of the following sets of numbers.

(a) 67;203,' 60,825; 48,718; 56,901 (b) 72,803; 24,200; 31,995; 49,856

Copy and re-arrange the following numbers in ascending order.

(3 11,500 8,300 75,830 14,657 82,013 17,410
(b) 92,000 16635 85,010 19516 68,300 98,115
Copy and re-arrange the following numbers in descending order.

(@) 1257 18,473 10,109 20,718 30,000 17,510
(b) 6,037 28,019 708 8,472 31,005 19,436

Write the successor of each of the following numbers.

(@) 12817 (b) 23889 ~ (a 30012

Write the predecessor of each of the following numbers.

' (a) 23,007 () 4819 {c) 50,000
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1. Aman bought a plot of land for ¥ 37,899 and sold it for  45,362. How much profit did he earn?
2. By how much is 98,720 greater than 89,293?
3. The sum of two numbers is 70,501.1f one number is 48,634, find the other number,

4. The population (as per 2011 census) of Andaman and Nicobar Islands is 3,79,944 ard that of
Daman and Diu is 2,42,911. How much is the population of Andaman and Nicabar Islands more
than that of Daman and Diu?

5. MrSinha earned ¥ 2,57,360 in two years. In one of those years he earned ? 1,08,572. How much
did he earn in the other year?

6. An¥'s balance on 1st September in his bank account was ¥ 3,49,500, He withdrew Z 28,635 in
the month of September, ¥ 35,013 in the month of October and % 1,19,820 in the month of
November,What was his balance on 15t December?

7. What must be added to 1,79,415 to make three lakh?

8. The sum of two numbers is six lakh forty-nine thousand seven hundred twelve. If one of the numbers
is 4,93,700, find the other number.

9. How much more is the difference of 90,400 and 50,648, than the difference of 80,312 and 60,185.

10. Write the largest and the smallest 6-digit number using the digits 2,5,0,7,6,3 and find the difference
between them.
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Copy and multiply,

1.

9.

212
X134

4

LS I
~1 un
oh un

7986
X835

10,

4082

x830 .

= <

~ u wr
N~ —_ o
o (T - -

n

9078
x609

>
I
(e
L=

12. 8009
x590

Scanned with CamScanner

12



9. 10. M.

A ws @
Vi =0
m =00 N
cvOowmw
owv -
~ oM
| w~ W
ooy
a0 NN
oo A
W w o
oo —=m
O WS
o N9
F- -
oo w

13. On Friday, 6,759 people watched a cricket match. On Saturday, the attendance was 8,513 and
on Sunday, the attendance was 9,876. How many people in all attendecd the three games?

14. 7,896 visited an amusement park on Monday; 6,293 visited on Tuesday; 5,429 visited on
Wednesday and 8,938 visited on Thursday. How many people visited the amusement park
on these 4 days?

- s S WY - MEEELR ' ol e =N

Scanned with CamScanner

13



1

‘-‘

?:;';‘W'“l' the numbers shown on the abacus bath in fiqures and words.

S (i “'l 't‘\ 1 {0} (b mu h »
© Numetal: Numeral: _ e
pumeral Name : Numeral Hame

3. Drawbeadsonthe abacus to show the given numbers.
(a) 42678 (b) 63,025 (<)
@E‘h‘:‘l.ll‘”‘l GO

100452

——

TTh Th

1]

(a) Tenthousand four hundred seventy-five 10ATH

—— [

4, Write in figures,One has been done for you.

{b) Twenty-nine thousand cight hundred seventeen

() Fifty-three thousand seven hundred sixty-eight

(d} Seventeen thousand seventeen

(e) Eighty thousand

5. Write inwords. One has been done for you.

(& I ; | 3 \ Fiitren thousand four bundeed thty-nne
l s 4

® 3 LE=% 3. AR

© 4.9 5 0 0

@ 6.9 0 0 7

@ (9.9 9 9 9
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Exercise 1B

2

0 207016

{¢) 7,20003

The largest numbier of 6 digits it

|t can be shown on an abacus as:

ltisread as

—

o O i 1 ) w 'r:@lﬁ_ O
R ; & |
l | :

In figures:

—— e ———

Infiqures: ___ -

In words: -
Inwords : s 0

Read and write the following numbers in words.

() 459723

(b) 678,209

(d) 500124
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& Write in numerals by putting commat at prope places.
) Two b h seventy mene thoywand siv hundred trventeen
(1 Seven Lakh pght thouwand nineieen
() Nine lakh eighe
{d) Two labh four kundied fve

{e) Five abh sivteen

)
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6.

‘'(d) 40,000+ 0+200+70+5

—

Diglgj (Place value mfj‘
(

234,956 5 ) (695782 |
%L__‘] |
L4 )
L3 J( )

— L 2 jL j .

Which digit is at the ten thousands place in each of the following?

(a) - 87,946 ® ss2n( ) © 36“#‘

]

Which place value does 3 show in each number. Match the correct opti
done for you,

(@ 378 () tenthousands
() 30,567 (i) hundreds :

(d) 3,79,246 (iv) tens
(e) 7.435 (v) ones
(f) 84,923 (vi) lakhs

Write the numbers in compact form.
(a) 30,000 + 8,000 +400+30+7

(b) 60,000+ 3,000+ 900+ 10+4

{(¢) 90,000+0+0+0+1

(e) 5,00,000 + 70,000 + 9,000 4+ 600 + 20 + 3
(f) 5,00,000 + 10,000 + 7,000 4+ 600 +30+8

Write the following numbers in expanded form. One has been done fo"r Vou X

on.One has been

(a) 25,297 = 20000+5000+200+90+7 (b) 65817 = '
(© 80020 =. : —— (d) 265347 =

(e) 506,124 = () 9,98,789 =
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9
= ) Revision Exercise |
.o inthe blanky . r m
a1 o 0 the higy __isinine "mt“h p¥ >

LUNEL T ST eeeess 2o s 10

I mom s, 5a
(IR

Rive X} = -fﬂ-?f !hﬂ‘i%"&]_‘ﬂ s‘ ‘1Fl!® *"- r‘b : i
wardt.

nie the mitvng digd tn male the ineguality the

L \".”h' the Bumley thamn in the ahagant M!! lﬂw
’ INRL (o Numess] Sy
NImhEr mIme @ e T T

1"
L3

b Answertine (Tior fatee (1),
13} Flace vatue of the cotoured dig4 in £.36,729 1 3000
M 200N« 0047 -4,59,0?{1_'
1€} The rumenst for fve L2k tw thoyrsnd eighty vine it $.20.8%0
4 Write < v ar = fer rnho‘
tal :';,mo:g,n.:n (] lwhlhsmnO‘mm’
5. (a) Write the aumbers In arcending erder, '
48 AR L4008 Z0RSY, AL RN, SOAL0

I} Write the numbe e in deseending arder,
252,345, 185,500, 214100 408525, §.00492

Multiple Choier Quettinne (KCQ1). Tick /] the correct option,
ot Whatweighly five thousand twenty five'in flandand lorm?

fa) 8525 by #0825 Q) hSO2S 14) 85340
7. Thesmallest $-digit even punbet formed by the digty 1,067 and ) iy
(a0 13670 ) 10376 {104 137

8. The successor of the greatent 5-digit numbet Iy

(@) 1,00,000 (b 10,00 i) 10,00,000
o, What number is 1000 meore than £9,070) 95

{a) 89,190 (bl 90000 m' 9,020
.Challenge! ...

. whlct of the follewing I+ 7900 rounded off toy
o) 7809 b 7819

(d) w,m

. 22
A
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HISTORY

Read,' Why History' and, learun
dikilsieult wonds Q

What is history?

History tells us about what happened in
the past. It reveals how people lived, swhat
they ate, where they lived.

What is ancient?
Ancient means very distant past.

Why do we study histo ry? Iiormulion insl;ribed on rocks
We study history

A to know about our past; our ancestors...
~ the kings and different dynasties that ruled us

& because it is exciting and interesting to know abourt our past

~ as it tells us about our past, we can analyse our past and move towat
better future

History is the story of Man—the Early Man and about the present
Man, as he is today-.

History is divided into two parts—Prehistory and History.

21
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. - * u. s e '.' 0 . . I’ .
~p“.‘ means Ivelores Illlll. Iul:.. } It|l.l\lnl} me !Il.\ l‘tluu
{ histoty. S Prehistory is the period when

IL‘(UI\!L‘; l

chere are 1 wiitten reeonds.

History is the period tot which written records are
1} Yy U .

available.

During the prehistoric

period, peaple did nov yeyo oo

rds or
know how to read and - manuscripis
write. They mainly used

stone tools to draw images on cave walls and on

Drawing on cave walls stones.
What else did they do with sfone fools? "n’_’:‘m ﬂn
o dug out roots @ (‘:
& cut leaves of plants for shelter, clothing - @\?
« ysed them for hunting ;‘
< protected themselves from wild animals L :
Different kinds of

Early Man could not
read or write. But they
knew how to draw and paint. They drew on
the walls of caves and on rocks. With time
they learnt how to sharpen their ools. This
made cheir life easicr. Now they could cut,

Painting showing hunling dig and hunt easily.
cctivity of Early Man

sione tools

Bﬁf how do we know about people who cannof write!
\\F learn about them from the
thiges they used in their daily Jif;

pictures they drew on the caves walls and

"

RN
2%
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Who tells us about these palntings and
dug out materials?

People who undertake the study of history by ‘digging
up of the past’ arc called Archacologists and the
study is known as Archacology. It is with the help of
archacologists that we get knowledge of the prehistoric
times, for which there are no written records. They  Things us®
carry out excavations, dig out old tools, pottery,
jewellery and bones. These findings
arc called artefacts. Archacologists
study these articles and arrive ac their
conclusions.

d in daily
lifo of Early Man

History is written records
Thousands of ycars ago, when there
was no paper, Early Man wrote on

—us,

Ils of d even bark of Mohenjodoro—an important city of
stones, walls of caves and even barkof 0 valley Civilisation was 'dug’

trees. People also wrote on papyrus, oyt
which was made from the thick

grass-like plant growing ncar some
civers and lakes. Papyrus was mainly
found along the river Nile in Egypt.
From papyrus, the Chinesc invented
paper. With the discovery of paper,
different forms of writing developed.
Language and forms of writing—
script developed. When historians
carricd out their excavations,
thousands of manuscripts and
inscriptions were discovered.

_Know This
Archaeologists have even dug |
out citiesand buildings that
have been under the around for
thousands of years. One such =
‘example is our own Indus Valley
» Civilisation, along river In'dus
and Its tributaries. The citles
" of Harappa and Mohenjodaro’
_ "wt_e‘réadlsctjvered.by\lndl'ari
archaeologists in the 1920s.

|
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== - iRz veany re tae dirth of Christ are counss

Y L N o S SR S
e i N T L It A s
-
'l"'._a -—— %L '
- -2 im32 Eoyr

cas’ of historv?
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[
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\Wnlf I8 a limeling? ”uu does 1l IH‘,P usl

1 ' ‘ "l
T Cop . J o A vimeline hely
N timeline i 3 veries ol evenrs in chronologival onder. A o,

TR

; N colacearraneed inthe g
understand ditlerent hiswarical events that ol placearmanpy '
For example, a vimeline of vour fife would be;

Birth Eé}lﬁ:; Class 2 Present day
|

|
-|I|I|l;||ll1'

0123-15(‘.70910
Years —- | {

Class 1  Class 3

Similutly, a timeline in history
particular time,

Stone Age

The Stone Age belongs 10 the prehistoric period when we had no writien
reconds as the people did not know the
used stones 1o dig. cut, drau
of stone. Slowly they

¢ be arranged according 1o the events of

art of writing, In the stone age, people
and paint. With time they improved their wols
started making new stone 1aols,

For us w learn and understand casily, we divide the periods into the Old

Stone Age and the New Stone Age. Difference of the two periods is based on
the toals they made and their uses,

Old Stone Age New Stone Age
Tools were: Tools were;
~ crude ~ polished 9 ' '
~ large ~ chipped
~ hlun “ ‘ ~ smooth Q a
~ tough ~ sharp, small
Crude slones used in Polished stones of
the Old Stone Age New Stone Age -
i)
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!

fealures of the Early or Old Stone Age

Mﬂﬂ

& Larly Man WS o nomadl. I1e didd not senle
Jown in one place. He wandered from place

maindy [0

o place, rests, in search of fooc.

& Ol Stone Age man ale
Sumetimes fish and mea

raots, [ruits, herries.
i ol wild s animals that

he hunted. Painting of Early Mon
leading o nomadic life

~ Lived in caves and in forests.
| animals for food and usc

vas the discovery of fire.

~ Hunted wilt . their skin as clothing.

# An important event s

ful 1o Early Man?

How was fire use
~ gave light
o pave warmth from the cold

~ frightened away W ild animals
h and thercfore made

o roasted animal fle
food tasticr

KnowThis ——— L
Nobody really knows how |

Early Man discovered
fire. Probably, when
two stones were rubbed

™ sparks flew out. Maybe,
= the sparks hit some dry
= |eaves and grass nearby (

!

=

that led to a big fire. Striking of two rocks or
stones for moking fire |
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New words learnt
anclent prehistory archacology excavate
artefact manuscript Inscriptlon dynasty
timeline crude nomad discovery

I. Fill in the blanks,
() Ancicnt means distant '
(b) is the period for which there are no writien :
records. \
(c) EarlyManwould or
on the cave walls.
J (d) Findings ol archacologists arc known as .
e (c) which was used to make paper was found
along the river Nile.
2. March the following:
A B
(a) Prehistory (i) Paper
(b) Chinese (ii) Stonc
(c) Nomad (iii) Food \ "
(d) Tools (iv) Early Man "r
} (c) Firc (v) Forests \ -_{
( 3. Complete the following sentences: __.__,_,-,.' N
(2) A manuscript is
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(" Jsctiphions M —e e ERTE—— —
() 1 stands e Ry
Wl In AD the dates -
(¢) Stone Age e b livided =

a2, Answet in one senenee.
(@) What is histony?

(I What is history divided into?

() Mention two (hings that the stone age min did with his toals,

(d) Give one Jitlerence between the Ol Stone Age and New Stone Age |

ool.

(¢) State two uses of lire.

Sometfiing interesting (o o

= Make a timeline of important events ol your elder brother/ ,
sister's life and draw itin your scrapbook. ‘

2 Make a scraphook and paste pictures of tools of the Old |
Stone Age and New Stone Age.

= Divide the class into four groups—each group may

make same model or representation of Old Stone Age or
Prehistoric Man.

9 A documentary on Early Man can be shown to the students
in the AV room.

eND 0F ASNCNIMENT
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